QUESTION BoOKLET

This question paper contains 170 questions ;g 3¢4 ¥ & 170 7% & |
All questions are compulsory. / 8t o7 33fqrd & |
One question carries half mark only. U yyq % foT heer AT 358

Maximum Marks : 85 ftrehan 37 : 85
Time : 2 Hours g : 2 U0
1. Inacompiler, linear analysis is called

(A) testing (B) lexical analyésiz )

C) scannin oth (B) an

(@; _ ﬁ’% % _(D) Both (B)

(A) afgm (B) wnfees farveo

(C) whwaE™ (D) (B) T (C) i
2. What are the attributes of good software ?

(A) Software maintainability (B) Software functionality

(C) Software development (D) Both (A) and (B)

T 30 WRINF g 2

(A) #fw:&matat i g SeTaTeehal

(C) wiwawm fawm | afr (B) g
3. The result of software desigi

(A) software design docu are design report

(C) software design result , Il of these

Hiweagt e 1 I

(A) WA Hfirweq Jfrere ¥ afirere fraré

(C) wiweaat rfiywreq gRom™ (D) & &
4.  Which model reduces the ¢ost of development of software ?

(A) Iterative ' -_ . rfall model

(C) Prototyping Lel's doitt O%% ‘mtﬁf ﬁese

¥ foywra 6 &TTA H B /1 AEA FH SR 7

(A) Tfea (B) STETHIet RigH

(C) Werergfim (D) T®a
§.  Beta testing is carried out by

(A) Users (B) Developers  (C) Testers (D) All of these

dfter st faran sen R e g

(A) I9@al  (B) fawm® (C) whww (D) T
6. In C language, which of the following operators has the highest precedence

C w1 8, Frferftaa sreeren! # @ forae I=ram gafda R 7

(A) Unary + (B) <= C) 2 (D) >

T —
" e T
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7.

10,

11,
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Which is an object-oriented programminy, -
(A) Real time system

(B) Al and expert system

(C) Neural network and Parallel programm; ng
(D) All of these .

= % A ¥ ot o FeiigEh s 2

(A) arafas vy

(B) Al 3in frdvg &= _ .
(C) e Azash N waien swnfem

(D) TE®f

C++ was developed by

(A) Dennis Ritchie (B) Bjarne Stroustrup

(C) Tannenbaum (D) Milan Melkovinec
C++ ¥ gr frssfera o man o

(A) 3w feh (B) =i giay

(C) Rwam (D) forem At
Which is not a linear data structure ?

(A) Queue (B) Stack () Amay (D) Tree
= 3 @ 9 o o e stee s R 2

(A) 7 B) ¥ © & ®) #
A graph is a collection of

(A) rows and columns ) vertices and edges

(O) equations_ D) identity

TF TG 56 §Fe T 8 —

(A) T 3tk Hiem (B) afédw 3k wiw

(C) TR (D) FRRA

Sorting is useful for

(A) report generation (B) responding to queries easily
(C) Both (A) and (B) (D) None of these

witen s forg ugnfi § -

(A) Toavé 3eg= & (B) W1 ) R whafiem
(C) (A) 7w (B) A (D) T & w7




12.

13.

14,

18,

In SQL, which of the following is not a data definition language command ?
(A) RENAME (B) REVOKE (C) GRANT (D) UPDATE
SQL #, Fr=ferfaa % @ #%7 w1 uw 1oy yisgre wron aRRT TR 7

(A) fom (B) P (C) T (D) e
Which is the process of removing redundancy and unwanted data ?
(A) Function dependency (B) Database modeling

(C) Normalization (D) Decomposition

farr & @ B W & whivn st st sk sfiien 1 w2 R 7
(A) Yol ffran (B) 3w wighin(c) v (D) fawea

The data communication mode that supports data transmission in both
directions at the same time is

(A) simplex (B) half-duplex

(C) full-duplex (D) multiply

T HT AT 3 R Rmat s R w R wm i R -
(A) fnww (B) WH-FHRT

(©) W"@m g:“"h
Which allows pﬂg Mm grams and data ?

(A) Communication server ‘ (B) Print server

(C) File server (D) All of these

for= & w0 LAN swarmeratart ) seaet ot sk 212 ) wmen w6 s
w g 7 \

(A) wamwR  (B) fBrwh  (C) vymwh (D) wrwh

Which Online monitoring system has been recently started by H.P.

Government for monitoring of the welfare schemes, employment generation
and Jan-Manch ?

(A) HIMSWAN (B) Shakti Button

(C) Him Pragti (D) None of these

et w8 wOHR g wew droenad, e g ik -t 6 et %
forq we @ & W W srtEmR wifvet Rrem g @ g o

(A) formm  (B) wfwE  (€) fmwh (D) A

T — S — —_— S W W S S— —_— _—




17. Upto September 2018, banks have how many pacic Saving Bank Deposit

Accounts under Pradhan Mantri Jan-Dhap y o0 in Hp. 2

(A) 5.791akh  (B) 6.631akh  (C) gg3 0 (D) 10.69 lakh
mmﬁmﬂﬂ-mm* et fevan.2018 a @i 4 fraa g
ASA TN G 8 7

(A) 5.79¥/@  (B) ,663FE  (C) 83w (D) 10.69 @

Which is a government supplier of GI pipes to | & PH department of H.P.

government ? .
(AY H.P. Agro Tech Corporation

(B) Him Federation
(C) H.P. Marketing Produce Corporation

(D) H.P. State Civil Supplies Corporation

fisrarer waw ST A 1 & PH v ) . 31mé, arge o1 o e A @ 7
(A) TE.9. Gitew wHiaRe™ (B) fam ¥gtwm

(C) T, aHfE M@ HRIA (D) .9, Rz fafiret qeemda widRe

19. In H.P. how many Vegetable Development Stations of Government are

18.

functioning ? \
(A) One (B) Three (C) Five (D) Eight
famraer w2 # Rea T weh ﬁlﬂ; Fgw@a s 7

(A) T (B) = (C) v (DY’ 318

20, Which is a programme for climate Smart Green Cities ?
(A) Nagar Van Udyan Yojna - ‘EK Kadam Hariyali Ki Or"
(B) Integrated Development project for source sustainability and climate

resistant Rain-fed Agriculture
(C) Himachal Pradesh Forest Ecosystems Climate Proofing Project

(D) None of these
fo= & & w7 W ot et oY SreraTy % v O Tl R 7

(A) TR & UM QI ~ ‘T ey BRAren 6 3R
(B) @ wirwmen 3l Sreramy At awi s F 3 fore e R i
(C) femmram wam &= wfRuferehY srerary whem af@emn

(D) W& A el
Code No. ; C-631/2021/Serles-C e A -~ Y




21.

22,

23.

24,

28,

26.

27,

ot " District project, how i launched in H.P.
so far ? many e-services have been

ﬁm;amﬁmamﬁ-fzﬁazmaﬁmmﬁ-ﬂmﬁﬁﬂ*m
TR ?

(A) 42 (B) 46 (C) 50 (D) 52
In H.P. how many Zila Parishads are functioning ?

(A) One (B) Three (C) Four (D) Twelve
femreret wew & foem Rven wfteg wrdea § 7

(A) & (B) # (C) WN (D) am®
Which of the following has longest tenure as Chief Minister of H.P. ?
(AY Veer Bhadra Singh (B) Dr.Y.S. Parmar

(C) Prem Kumar Dhumal (D) Shanta Kumar
mﬁammmﬁmwmmmmt ?
(A) fmwzfie (B) ¥I. M.TH. TR

(C) W FHR ywe (D) W FWR

In which year Kangra district was formed a part of H.P. ?

whrg fren fimras wew 1 o feey fem ad & 7

(A) 1954 {B) 1956 (C) 1960 (D) 1966
Bijli Mahadev temple is located 'd(\vhich district of H.P. ?

(A) Kullu (B) Sirmour (C) Kinnaur (D) Lahaul-spiti
forreh werdw wft e e & @ i fRm g 2

(A) ¥ (B) famfk (C) i (D) wmi=-wfifa

Sirmour princely state was founded by

(A) Raja Rasalu (B) Rajendra prakash
(C)~Subhash Prakash (D) None of these
feredi Troreft T ) wuTgen B o -

(A) TM@E,~ (B) TARTWM  (C) NN WSM (D) v & oY 7t

The installed capacity of Karchcham Wangtoo hydroelectric project is
TOR TTTg, TAferoren ot ) wfufeea amm @

AA) 250MW  (B) S00MW  (C) 1000MW (D) 2051 MW

— i —— —————— —— — —— - '—"I-I'I——.-.--._-"
S e S — —— —
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28. Gaddiisa

29.

30.

31.

32.

(B) Semi agriculturist tribe

(A) Semi nomadic tribe
(D) All of these

(C) Semi pastoral tribe

T R -

(A) FY-GHEE FAATTA (B) -t wenfa

(€) d-yyErd senfa (D) =®avfi

H.P. Board of School Education is located at which place in H.P. ?

(A) Shimla (B) Solan (C) Dharamshala (D) Sundemagar

femrae w2 & fve T W R Wou e tadv A R R 7
(A) fmen (B) @A (C) uvdwmren (D) HEEW

The river Ravi is originated from which place in H.P. ?

(A) Bara Banghal (B) BaralachaPass (C) Rohtang Pass (D) None of these
TR Fgm e R S frawmat?

(A) sEEs (B) smemi g (C) dmamad (D) A+l

In a code ‘Ni Mik Puk’ means ‘Serious And Worried’; ‘In Dik So’ means
‘Each Any Other’ and ‘Tur Muk To' means ‘Soul And Body’ then in that
code what are for ‘Each Worried ? |

(A) InNi (B) Pik Ni (C) Dik Pik (D) None of these
T T2 # ‘Ni Mik Puk’ %1 31 & ‘Serioys And Worried", ‘In Dik So’ %1 31 &
‘Each Any Other’ 3 *Tur Muk To’/41 314 & ‘Soul And Body' ) ¥t % &
‘Each Worried' & 8m ?

(A) InNi (B) Pik Ni (C) Dik Pik (D) wH A+ ad

Radha remembers that her father's birthday is after 16™ April but before 21*
April, while his brother Mangesh remembers that his father's birthday is
before 22° April and after 19" April. What is the exact date on which his

father's birthday falls ?
(A) 19" April (B) 20™ April

(C) 21* April (D) Data inadequate

T 1 91 R 6 3% R & TR 16 e & are o 21 s S wER 2,
e 3w% wrd Wi ) a1g R R T R & awiw 22 ale & ved afk 19
IAFIRR I T R & TR N e atm s 7

(A) 1938 (B) 203@ (C) 2198® (D) ¥ i

s S T — —— — ———— ——— —— ———— — ——— —— T S — —— — S — — ——



33, There are numbers from 2 to 41 which are divisible by 3. How many such
numbers are there which have 3 either at unit place or at tenth place or at
both places ?
raqdvdaem g N3 afanfmé  Fafmmmiioamdw

R 7 gaErE T A1 ST T T 7

(A) 5 (B) 6 (C) 7 (D) 8
34. The next term in the following letter series will be :
e e sj@en & e 2 Fm e
CFK, DHN, EJQ, FLT,?
(A) GNW (B) GNV (C) GMU (D) GOX
38, Which is different from the rest ?
fadasRmiEe?
(A) 19 (B) 29 (C) 59 (D) 69
36. Under which Section of Disaster Management Act, 2005 spitting in public is
offence now ?
(A) Section 50(a) (B) Section 51(b)
(C) Section 51(c) (D) Section 52(a)
ITE1 A SRR, 2005 ¥ PR TR F AT WILATH TR T YEH 34
Fu R 7

(A) 3790 50(a) (B) (b) (C) T2 51(c) (D) HTEBR 52(a)

37, First Indian City which recently announced wearing of face masks in public
places mandatory :

(A) Mumbai (B) Delhi (C) Hyderabad (D) Indore
e @ & arkafe T W %6 AT Tea 6 sfrardm 6 g @ aen oW
TG e

(A) gead (B) feeeh (C) ¥z (D) =N

38. As per Gartner 2019 Digital Workplace Survey, which is the most digitally
dexterous country in the world ?

(A) India (B) UK (C) USA (D) Singapore
MéT-2019 ffiree ahera a8 % 3en fva 6 ved Rl s nFRmi 2
(A) WTE (B) .. () gwu. (D) Ry

—-——+-=—-—--—--—-.-.——-—.-..——-—-“-———-—-r--—-—"—P--l-—"--n——-—_ o ——— — e . - - — - - —



39.

40.

41.

43'
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&+

42.

Which of the followmg has memly launched a new v]rtual Bnulle keyboard
named ‘Talkback’ ? |
(A) Apple (B) Google (C) Facebook (D) Microsoft

Py i & e et @ 3 O 78 FAS 3 DS Rygepy ‘o afa R R 2
(A) = (B) P (C) %ugs (D) WTEHIATR

Which of the following has recﬁntly authored to book titled “Shutting to the
Top : The Story of P.V. Sindhu” ?

(A) Taslima Nasreen (B) Arunava Sinha

(C) V. Krishnaswamy { (D) Chetan Bhagat

e 3 & fred ge @ § W T9% Rraw s “wefin g g 2w - g =1
e ff Rig" iz 7 !

(A) Tl 7907 (B) e (C) . powEanh (D) I ww

The great ruler Kanishka belonged to which dynasty ?
(A) Mauryan (B) Gupta (C) Kushans (D) Parthians

HEH WHS Hivsh g teau A afta 9 7
(A) W (B) T , (©) ™ (D) wrft
Who wrote ‘Kitab-ul-Hind’ book ?
(A) Rirdausi }(‘B) Alberuni
(C) Megasthenes ~ (D) Kautilya
| ‘Tre-3a-Re’ v e ferelt 7
(A) fededt (B) @A
(C) ey (D) #Re=
‘Battle of Khanwa’ took place in which year ?
TN FIg e adgan 7
(A) 1527 (B) 1540 (C) 1552 (D) 1556
Amjad Ali Khan is associated with which musical instrument ?
(A) Sarod (B) Sitar (C) Violin (D) Veena
Fuarg el T forw afta s Ga A wafra @ 2
(A) g (B) fwr (C) “mRm (D) in




\ .
. 45, Garba is a folk dance of which Indian State ?

(A) Assam (B) West Bengal (C) K :
e R TR T 1 O S g R ) TIQHE ) Gojan

(A) e (B) WmaT® () watew (D) TR
46. Which is the smallest planet ?

(A) Mercury (B) Venus (C) Earth D
A i A PR TR S TR R 7 R
(A) 99 (B) W (C) gt (D) We
47. Gneiss is which type of rock ?
(A) Igneous rock (B) Sedimentary rock
(C) Metamorphic rock (D) None of these
e fra TR A AER ?
(A) I 9= (B) ¥=ard dw
(C) wwiafa 9t (D) FHAFR T
48. Which ocean is named after a country ?
(A) Pacific ocean + (B) Atlantic ocean
(C) Arctic ocean (D) None of these
R TETETTC 1 AT O 20 WA @) T R 7
(A) W¥Id NETETR (B) HHIfe® HEETH
(C) AThiew wEErR /(D) FRARETE
49. Hollywood is located in which country ?
(A) UK (B) USA (C) France (D) Germany
diefgs fram i fRa e ?
(A) 5. (B) @Y  (C) wH (D)
50. Sardar Sarovar project is built on which river ?
(A) Narmada (B) Tapti (C) Godavari (D) Mahanadi
T gt aPE R T wEA R 7

— e —

(A) T (B) aret (C) "=l (D) wWere

e ————
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$1. Fundamental Duties are listed under which Section of Indian Constitution ?

(A) Article 32 (B) Article 40
(C) Article 45 (D) Article 51 A
T el e SR % R TTRT ¥ st e & 7
(A) I=8g 32 (B) 3=z 40
(C) JFBT 45 (D) =3z 51A

$2. Money Bills can be introduced in the Parliament only with prior
recommendation of which of the following ?

(A) Finance Commission (B) NITI Aayog

(C) President (D) Speaker of Lok Sabha

Pradadae g F30 R Rl wug # wge R s wwm @ )

(A) far Imam (B) NITI 3mim

(C) Ty (D) #rw w & e
83. Finance Commission is a/an

(A) Executive Body (B) Statutory Body

(C) Constitutional Body (D) None of these

fasamR

(A) wriafere ween . (B) awrfas e

(C) waurfyw wen (D) %l & wrf Tt
84, Spiritis s

(A) Methyl alcohol (B) Ethyl alcohol

(C) Mercuric sulphide , (D) Nitrous oxide

farfz ®

(A) frumm geREe (B) FUTEE TFhIES

(C) WTHfw HeHTES (D) Avgga ATwaTgE
88, Which is known as master gland ?

(A) Liver (B) Pancreas

(C) Pituitary gland (D) None of these

e & R sy s sm T R 7

(A) TFa (B) r=mrd

(C) Rty (D) AT ~

Code No. : C-631/2021/Serles-C 12



7.

61.

62.

Caustic soda is

(A) Sodium Hydroxide B) Sodi -

(C) Calcium Chloride :D; Cah::lunr:n(;:‘;i::ide
PR WE & -

(A) Wi grggiauTss (B) wifsam Femse

(©) &feyram T s (D) e TSRS
Infertility is caused due to deficiency of which Vitamin ?

(A) ViaminB (B) VitaminC (C) VitaminD (D) Vitami
mmaﬁﬂ%mmmg? itamin (D) Vitammin E

A) fefmB  (B) Rafmc () fefmD (D) RafRE
Antonym of ‘Paltry’ is

(A) Strong (B) Worthwhile (C) Mean (D) Bitter
One word substitution for ‘A small house with all rooms on one floor’ is
(A) Bungalow (B) Cottage (C) Flat (D) Castle
She has not recovered fully the shock.

(A) against (B) of (C) from (D) off

Meaning of the idiom ‘To be at daggers drawn’ is
(A) To be frightened /

(B) To be ready to face danger

(C) To threaten one

(D) To be bitter enemy

TR F auE @ ‘

(A) aeges B) ¥R (©) T (D) wgshifR
2t w1 yafgarh 2

(A) &R (B) fe= (C) ¥4 (D) w4
ggar ¥ e R

(A) § (B) & (C) s (D) ¥
e graw e qerat &1 3 8

(A) freft % i3 g0 a@ 75 (B) WENW A

(C) =3 (D) e Fe,

————
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66.

67.

69.

70.

Who is recognized as the father of Artificia] Intelligence ?

(A) Charles Babbage (B) Donald Knuth

(C) Allan Turing (D) John McCarthy

fEEiRre R & 59 & 89 3 53 vzam a2 7

(A) Tiddm  (B) BT () wmgghn (D) IA AP

The CAPTCHA test used to dﬂemline if an online user is l'ea"y a human or
a robot, is based on test. ‘ |
(A) Bot (B) Kahn (C) Turing (D) Penetration

CAPTCHA wittrw 3w R SImat R a8 wrd & forg i Iwdiranal #0H & A1
MW,  qiguwRI™RAR |

(A) afe (B) ®H (C) ftn (D) ¥R

What is the name of the computer that defeated the world champion Gary
Kasparov in Chess in 1997 ?

(A) IBM Deep Blue (B) IBM Summit
(C) Intel Paragon (D) Cray Titan

#1997 # vt & fva foden H wremils 9 g TR @ T AW R 2
(A) J.Hwm. fyw (B) . d.om. wfe

(€) R ¥ (D) % ZweA

How will you represent the mmXAu kings are persons” in first order
predicate logic ? ,
wmmmﬁ“mmngsmm"mﬁWMMW
Loyl

(A) V x Person(x) = King(x) (B) 3 x King(x) v Person(x)
(C) 3 x King(x) = Person(x) (D) V x King(x) = Person(x)

Which of the following is not a subfield of artificial intelligence ?

(A) Computer Vision B) Natural Language Processin
(C) Machine Learning &3 Internet oni."?;.‘; :
mnmmaﬁﬁmmmwmmu

A wmhm (B) ‘e ik shaei

(C) e (D) ¥evde 31k fimg

Code No. : C-63172021/SerienC = ——— e



71.  What shal I:c the output produced by the following statement in a *C” program ?
. Cq m "

HUA T T T3z IS B 7
printf (“sd”, 5 & 2 | 7).,

(A) 5 (B) 6 (C) 8 (D) 7
72. Ina certain C program, a macro is defined as

o ffem C s &, o ) wfonfim @

#define product(a, b)a*b

What shall be the output produced by the following statement ?

frferiya o= g smsege 7 @m 2

printf (“%d”, product(5+2, 4+3));

(A) 45 (B) 16 (C) 49 (D) 22
73. What shall be the output of the following program segment in C ?

C % frferfaa am @vg &1 Smaege w0 €M 7

int a, b, ¢;

a=10;

b=++a; c=a+t+;

printf(“%d %d %d”, a, b, c);

(A) 121011 (B) 121212 (O) 121110 (D) 121111
74. What shall be the output of the ing program segment in C ?

C % fr=ferfem s v & wEm ?

int a[ ) = [1r213l4r5]‘
int *b = a+2;
printf (“%d”, b(2]);

(A) 4 (B) § € 3 (D) 2

75. Which of the following is not a looping control statement in C ?
frefirften & @ W 1 C & o oftn ww w7

(A) while (B) do...while (C) for (D) if
76. In C, the jump statement can be used inside loops and switch
statements only.

(o W Y ) e R wEt ol e & s avaim R I wwe R |
(A) break (B) else (C) continue (D) goto

————— T T ——— . " W ——— —— — —————— —
—— — —
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7.

79,

81.

83.

— T — — i — -

Which is a user-defined datatype in C consisting of many member variables

and all these variables share the same memory location ?

C 4 e R 31597 5 1 e e 1 £ S
h feen e ) T Y IS

(A) struct (B) string (C) union (D) array

What shall be the output of the following program segment in C ?

C & Preferfaa o @8 1 AT 0 ' 7

char name[ ) = “ARMAN GUPTA";

printf (“8s”, name+3);

(A) GUPTA (B) DUPDQ JXSWD

(C) AN GUPTA (D) It will lead to a syntax error. /
7w foewa 7fe ) 3 EEm |

An escape sequence always begins with ~ character in C.

Civwuam ygrngam __ S ayweme | |

(A) \(back slah) (B) /(slash)  (C) *(asterisk) (D) #(hash) |

The is a standard C library function to release the dynamically
allocated memory.

T W C STest waem R o wfieg amifen At o g et R
(A) dealloc() (B) delete() (C) free() (D) release()

Which variable preserves its valu,‘ﬁven after the function in which it is
declared as finished execution ?

WR W W 3w o W fw vam § 3w R & grar o Rt o i
Wt & B v o W R g 7

(A) pointer (B) static

(C) register (D) auto

The number of bit positions in which two codewords differ is called the
(A) Hamming distance (B) Vector distance
(C) Euclid distance

ﬁzm“mmﬁwmﬂiﬁg;;;l;diumet_

A) Wz B) Wz () g (D) el

If the hit ratio of cache memory is h, then what is its
' i io ?
afe; & AW ez ST 9, W) e form mmnr: e

(B) W



84.

86.

87.

89.

!tAID is a data storage technology that combines multiple physical disks
into one logical disks. What is the full form of RAID in this statement ?
(A) Regular Array of Interchanging Disks

(B) Recurring Array of Inexpensive Disks

(C) Reversible Array of Intact Disks ﬁ

(D) Redundant Array of Independent Disks

RAID T SRI WSRYI d&1% R St age siifess foel 9 v afhas foei &
w1 2 | 9 FYT | RAID %1 Tl e w1 @ 7

A) TR R AETERM TS (B) ffin R avTw AR
©) ffiTeRsmRRERE (D) heRe it vie RiE o=

The complete set of colours that display or printer can produce is called its

(A) resolution (B) gutter (C) gamut (D) range
it a1 wqot wg At feeat @ B gr /= fan = Wb R, R
(A) fMeER (B) ™ (C)/ e (D) @

Which of the following is a not a table level database constraint ?
= # A B |1 T afere W ST TREg @ R ?

(A) NOT NULL (B) PRIMARY KEY
(C) UNIQUE (D) FOREIGN KEY

Number of tuples in a database relation is called of that relation.
(A) height (B) cardinality span (D) degree
FRGEEY A T TSN I HEUR _ FEAIR |

(A) 1§ (B) wq@d (€) e (D) e

Which clause in an SQL SELECT command is used to filter the query result
based on the value of the aggregate function used in the query ?

A ¥ W WYY FeR & T W A R hom e F § fag
SQL SELECT ®Hi3 § # ®1 7 Y a1 @ ?

(A) FROM (B) HAVING (C) WHERE (D) ORDER BY

If two database relations have m and n tuples respectively, then what is the
cardinality of the resultant relation of Cartesian product of these two relations ?

7R ) g waul F FA: m 3 n A &, A T [ WAl F Fdig PH F
oot sy ) wywa = 8@t ?

(A) m+n (B) m" (C) mxn (D) m-n
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90. Which of the following is not a DDL command in SQL ?

SQL & fe=r # & 91 &1 T DDL &urew 7 R 7
(A) CREATE (B) ALTER (C) DROP (D) UPDATE

91. Which is a virtual table created by executing a stored database query ?

(A) index (B) sequence (C) trigger (D) view
o sk Szrew 720 & P g aad nd smmeh v DA R 2
(A) RW (B) #Www ©) Pm D) &

92. What is the correct SQL query on some ‘employee’ table to list the
departments with average salary more than 10000 ?

fet *employee’ WRVR & 10,000 | ifrw e Ia= ar Rt it gt & e
¥ SQL RO+ R ?
(A) SELECT deptt, FROM employee GROUP BY deptt

avg(salary) .  HAVING avg(salary) > 10000;
(B) SELECT deptt, FROM employee WITH
avg(salary) avg(salary) > 10000;
(C) SELECT deptt, FROM employee GROUP BY deptt
avg(salary) WHERE avg(salary) > 10000;
- (D) SELECT deptt, FROM ‘employee ORDER BY deptt
avg(salary) IF avg (salary) > 10000;

93, Which server-side scripting Iﬁqe is used in WAMP platform ?
WAMP Qe § #1 d weR w1s vy wro &1 swam @ @ ¢
(A) PHP (B) Java (C) C (D) Python
r

94. How is a PHP script embedded inside a web page ?
v g 9 i PHP faft v o o wnfea gt & ¢
(A) Using <?...?>tag
(B) Using <php>...</php>tags
(C) Using <?php...7>tag
(D) Using <7>...</?>tags

98. What is the Linux command to display the list of running processes ?
wfera wom 9 g #) weRia w0 w1 foree Ten W R 7
(A) du . (B) df (C) ps (D) Is

— ———— ———— T ——— — — —
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96 Aflipflopis ___triggered, whereas a latch is __triggered.
(A) edg&; level (B) CIOCk, signal
(C) always, never (D) level, edge

& R -eia fomd @ R, srufs v A9 Rrdaame
(A) @, ¥ € (B) ¥, Reaet (C) siferdst, 3R (D) o, T

97. Let a and b be two Boolean variables. Which of the following is a set of
valid Boolean algebra axioms ?

A #RT a AR b QN g Aeee § | Prefefee 3 @ 99 @ o Ay IR
TR QR 1 wE € 7

(A) a-bzb-a,a+b=b+a (B) a+1=a,b-1=1

(C) a+a’=1,a:b"'=0 (D) a:b=b+a,b-a=a+b
98. Which of the following is called Modus Ponens in Inpropositional logic ?

FreTeTRTe wh § e o @ W W Are O wEera R 7

(A) p = qi p; ~q B) pv a;: p; q

©) pAqi pi g (D) p = qi qi p

99, Which of the following is a sequential circuit in digital electronics ?
(A) flip-flop (B) decoder (§3. multiplexer (D) adder

Fr= 4 & fefrem yew e & 9 w0 w arme whay @ 7

\

(A) fRm-vofe (B) eIt (C) wediawen (D) st

100. What will be the representation of (=2),p 88 a 4-bit two's complement

number ?
T 4-fre Q Y g W & i T (-2), o B e e
(A) 1101 (B) 1010 . (C) 0010 (D) 1110

101. Which of the following symbols represents the OR gate ?
fr= & & w1 wefrws forw OR 2 #) weffa wem @ 2

T A U S ———— —— —— —— ——t—— ————— e —
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Ing i i ing order for algor; |
102, Which of the following is the correct increasing gorithp, !

complexity Zmynomiﬂl < Quadratic < Logarithm < Exponential ]
(A) mwmd.inw < Quadratic < Polynomial < Exponential
oy w-c:omdﬂﬂ“ < Logarithm < Polynomial < Exponential
. :::;IIM“W“C < Linear < Polynomial < Exponential
gaammwmmﬁmmmm ?
(A) e <TRAITTE < TSRS < e < AR
(B) wiRor < SRR < TR < wiRvfivaer < wweari R
() i < FR® < AIMRen < wiftrfiver < cvadRRms
(D) wiinen < TR < TR < ofernfirae < wradrRme
103. Which of the following is a correct array representation of a max-heap ?
w - P A A &1 0 v R e R
A (10]9]6f7]8 5.4

®)[10] 6 5| 4

©lw|9]6[s5]4]7]s

M|1w0]|9(7]5]|4/6]8

104, Whuisthehelghtofnoqnp%bilmytreewithnnodes?
n A& T A AR S 7
(A) 20 (B) llug} m] (C) log,(m)] (D) n2

10S.” Which of the following sorting algorithms repeatedly inserts the first
ement of the unsorted part of an array at its correct position in the sorted
part of that array ?

(A) Quick sort (B) Merge sort

(C) Selection sort (D) Insertion sort
ﬁqnﬂnmiiﬁmwhu’imqwtmﬁtm*mdtﬁ@
wroft & Wt v R wr-an AR s R 7

(A) Rwal  B) wigy (C) Rewmwl (D) wwylawl

Cods No, 1 C-63172021/BeriesC 20 e —————




106, Which of the following is a valid min-heap

ted using array ?

et 2 8 1 s By - e & P 2 35 gy s R TN £ 7

3N 2 wu-A & T ) Saé = S

ALS[1 1217314816

{112 |3(4]|5]|6|7|8

C| 8|17 [6[5]14]|3]|21|1

M| 3f{1[2]|5]4]|]6]|7]8

107. The difference between the heights of left and right subtrees of any node in

an AVL tree is always

w AVL A & Rt e & ard

s
(A) 0 (B) <=2

(C) <=1

(D) >1

108, Which of the following graph search algorithms make use of backtracking ?

(A) Depth First Search
(B) Breadth First Search
(C) Both Depth First & Breadth First Search

(D) None of these ,
et § } FW W/ I §E I Ty w39 e R 7
) /¥rgy v wd
'D) W& & % Tl

(A) T HE wd

(C) %=1 W W sivgy wel QW

109. In a certain binary tree, following se
Inorder sequence : 643572
Preorder sequence : 546327 ,
Identify the tree from the choices given below :

/

aw of node traversal are yielded :

uw fafee Ramurd g # smaft wwm & Preaffee spem e §

TR HFR 643 572
ramt agww : 546327

firq my frereat # & gt @ TR |

5
e
w AN
4 3 7

(©) ’/<46\"\

2

)
/
® A \2\
5 3 6

(D)

N
/\3 7 \2

6

— ——— —— — — — — T — ———— — — - —— — ——

Code No. : C-631/2021/Series-C



110.

111.

112.

113,

114,

— ——

In an array of J;Klg“hE'I hnwhmany comparison O]?el:ltilzzﬁih:g qbe

; the algorithm if the key element is :
ﬁ%“%auﬁimﬁm Haqq E 5%3, At fpamurh & T
(A) 7 ®) 3 (C) 8 (D) 6
In a graph, if the sequence of vertices Vo Vy, ..., V, in a walk are distinct
then the walk is sm(dBt)O b:n'a;re

C D) circuit

% 5, R 2V, v,y s e &,
qTH ) HY T -
(A) @ (B) ¥ (C) ™ (D) uf&z
Which of the following sorting algorithms picks an array element as pivot
and partitions the array around the chosen pivot ?
(A) Heapsort (B) Quicksort (C) Mergesort (D) Bubble sort
e % A R W AR W & R o R F S el g d s v
FpHai s R A azIme
(A) dauré (B) fwalé (C) wdhats (D) waw até
What shall be the content of a stack after following sequence of operations ?
Prefirftr wftranait % HPPA WG T R Y ey wn gt 7
push(10) —» push(12) — push¢14) — pop() —> push(16) — pop() - pop()

—» push(15) = push(18) - pop()
@ [12]15]18] -» T@,@
;.

B)(14]16]15| - TOS
(D) 10[12] 18| - TOS

What is the postfix form for the infix arithmetic expressiona+b* ¢ /d?
VRhw Simnrera srfreie a + b « ¢ /d % forg Sreefhee T TN R 7

(A) abc+d* (B) abc*d /+ (C) ab+cd*/ (D) ab®*cd+/

In MS-Excel, if cell Al contains the value 100 and cell A2 contains the
value 10%, then what will be the value of the formula “=A1 + A2"?

MS-Excel #, o %1 A1 % 100 w1 5 & ok a9 A2 & 10% % 9 R, @ @
“=Al + A2" 1 HTH W1 8 7

(A) 110 (B) 100.1 (C) 1100 (D) 101

-———_—_-—-—--__-.—_
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116.

117.

119.

120.

121.

Which qf the following is the correct formula in MS-Excel to round a
number in the cell A1 to the nearest multiple of 100 ? _

MS-Excel § P § @ 38 @1 adl 4 @ Fraa o) R 06 HEA A 100 F
Prarzan on & qurtes fasan s wewan 8 7

(A) =ROUND(A1,100) (B) =ROUND(A1,-100)

(C) =ROUND(AL,-2 (D) =ROUND(AL,2)

Which of the following features in MS Excel lets you record a sequence of
keystrokes and play them again when required ?

(A) Format Painter (B) Macro

(C) PiVDt Tﬂh‘le fl]) Wrap Text

MS Excel 8§ f1 & & ®)7 @1 @15 vt -z F AI0 F1 7 F9 20 8

N FEEFAI TS WA R T R 7

(A) BRI (B) A (C) frezam (D) Wz

Which of the following types of graphics creates an images by combining
basic drawing shapes like lines, circles and curves etc. ?

(A) Vector (B) Raster (C) Pixel-based (D) Bitmapped
o & A R W M 1 WER g 3idn uR A @, g9 i @ wfe A
feremmam wiafi =1 ffo s @ 2 '

(A) JFX (B) WA %

(C) fawee amurfa (D) ﬁrzﬂw uTia '

The process of locating and correcting _ﬁ}hantic errors in a software is called
(A) compiling (B) scaffolding (C) coding (D) debugging

us aireagt # Rt gfedi #t $ 3l gura ) whirn i wgd &

(A) FHeH (B) e (C) WHEA (D) JuANA

Which of the following is a programming language developed by Google ?
(A) Ruby (B) Java  (C) Go (D) Haskell

for & @ pTet g R T ST e SR A R 7

(A) & (B) (C) ™ (D) T

Which of the following is a Microsoft anti-malware that provides real-time

pretection against viruses, malware and spyware ?
(A) Defender (B) Kaspersky (C) Outlook (D) McAfee

fore & @ F @1 U WIEHINIR G -ATeradt § W araw, wreraan o wam &
farrg aTeafa el guan ST T R 7
(A) faw=t (B) %eww@  (C) IWEgFE (D) AFH

— r s ==
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Which is a small piece of text data sent by a web server and stored on the

client computer by the web browser ?
(A) Trojan Horse(B) Cookie  (C) HTML Page (D) URL

39 FIIR g1 el T 3N TR Fozger w wnfen B A AT U 2R 27
S smAA R ?

(A) P g (B) T

(C) HTML ¥ (D) URL

123. Which attribute of an <a> element specifies the URL of the page to be
opened when the user clicks the hyperlink ?

T <a> AT 1 B 8 V/S8 S 49 & URL 1 @od & fore gamn 2
Iyaenal grgweies W feeh e R ¢
(A) data (B) style (C) href (D) src
124. Which of the following is not a valid tag in HTML ?
HTML %, R 3SR anus au 3@ 2 2
(A) <a> (B) <input>
(C) <checkbox> ‘ (D) <textarea>
125. Which attribute of <form> element is used to specify the URL of the server-

side script to which the form data is submitted ?
<form> AT F A A W ER-GEs o | URL #1 fva =9 § 22 =far

ﬁmmt,aﬁzﬁﬂiamzk
(A) href (B) | i (C) wrl (D) method

126. HTML form data is appended to the URL of the server-side script as quen
string when form data is submitted using method.

122.

. (A) GET (B) VIEW (C) PUT (D) POST
HTML i 821 /&t % w9 # weh-amgs fift & URL & werm g @ 78 w7 220
| fafty gro wfere e s @ 1
(A) (B) & € T (D) 9=
127. Which attribute of a <td> element is used to merge multiple table cells in the
same row together ?
(A) colspan (B) rowmerge (C) colmerge (D) rowspan

T <td> HEqq form wem 1 I94m = 0 € 9f § qge anof dew w1 faee
Al
(A) HieTedq (B) (C) FE®xd (D) Uem

S ——- - — N ———— —
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128 Which of the tollowing is o block-level clement in HTML ?

129.

130.

131.

132.

133.

134.

HTML % 43 Q @)1 w win-wan svaa 7

(A) <om> (B) <p> (C) <span> (D) <label>
Which of the following is not a semantic HTML element ?
Praferfiga 3 /@ 97 w1 o RlRRs HTML Fa TR ?

(A) <header> (B) <article>(C) <div> (D) <nav>

Which of the following is the correct CSS rule for setting margins of an
HTML eclements with id = “warning"” ?

frfofea 4 R id = “waming” % a9 v HTML =33 % wiff afén & e
s css Frm el @R 7

(A) #warning(margin : Spx; )
(B) .warning{margin : Spx;)
(C) *warning{margin : Spx; }
(D) @warning(margin : S5px;)

/
Which of the following is not the acceptable value for the “position” CSS
property ?

(A) relative (B) static (C) absolute (D) inline
Frrferfga 3§ & “position” CSS Twd F Ry M m s TR AL 7
(A) WNw (B) fér (C)/ Pl (D) werA

Which CSS property is used to set the bol of the text font ?
(A) font-bold (B) font-weight ( » text-weight (D) text-bold

TR wie i diesw F ghftaa 50 fore Rem CsS et w1 3vam R
AR ? |

\
(A) ¥R-dIF8  (B) We-dk (C) WAk (D) Iwe-wi=
An external javascript file can be linked to a web page using tag.
% 91 RN S5 #Y RIS T
(A) <href> (B) <link> (C) <script> (D) <src>

Which of the following is not a valid URL ?
PaddsRmw M URL TR ?

(A) http://xyz.in/home.html#about

(B) http://xyz.in\index.html

(C) bttp://xyz.in‘/home.html

(D) http://xyz.in
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J . the following is not a valid access specifier in Java ?

/138, mm:r:t;ted ~ (B) private (C) public (D) proctored
e # & AT I 3 U5 Ay qwig SR T R 7
A) MwE | (B) VR (C) f&r (D) shaed

136, Which members of a Java class can be accessed even without creating any
object of that class ? _
(A) constant (p_) public (C) static (D) final
mmmtmamﬁwmiﬁmmm&ﬁniwkm
v fia o wwen R 7
(A) R (B) YR (C) fRr (D) 3ifim

137. Which method of a Java object is automatically executed immediately
before the object is garbage collected ?
mmmecmmmm-mmﬁma,mmm
e f ot 8 7 |
(A) init() (B) finalize() (C) constructor() (D) destroy()

138. In Java exception handling, the code inside block is guaranteed to

execute irrespective of whether an exception occurred in the protected block
or not. |

(A) try (B) finallyy  (C) catch (D) throw
e qarg dusfeim A, . T W1 i g2 Pt @ freaRa gm
W e gl worten 3 gan 9 ppedt |
(A) 3™ (B) ©) %= (D) @

139, Which of the following is a wrapper cﬂm for primitive data type in Java ?
(A) Double (B) Syste (C) Scanner (D) Exception
miﬁnﬁmmmmmtmtﬂmmt ?

(A) wwm ® fem () @ (D) T
140. What is the range of “short” data type in Java ?

(A) ~128t0 127 (B) -65536to 65535
(C) ~32768 to 32767 (D) -16384 to 16383
T & “short” SveT ST W1 TR W R 7

(A)/-128 9 127 (B) -65536 ® 65535
(C) -32768 @ 32767 (D) -16384 R 16383

R SEe S -'_"——--‘-—-—--—-—--—mﬁ =
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141.

142.

143.

144.

148.

146.

Imagine that there are two variables a and b in a certain Java program
having data types int and short respectively. Which of the following are
valid assignments in that program ?

(A) a=b; (B) b=a; (C) a=b;b=a; (D) None of these
Fer 1% O PR s s s ine 3ftc short 6% ¥R § o a
3 b &Reaet § | 3w st e i @ 9 1 o A PR wE £ 7

(A) a=b; (B) b=a; (C) a=b;b=a; (D) FHA®EH
Which of the following IPv4 address series is reserved by IANA for private use ?

frafefaa § & 1 @ [Pva W s@en 1ANA gro e 3w & forg smdfda
wh iR ?

(A) 72.68.0.0/16 (B) 192.168.0.0/16
(C) 16.24.0.0/16 (D) 177.94.0.0/16
A/An is a function whose range is (TRUE, FALSE).

(A) lambda  (B) object (C) predicate (D) subject
v & Rra® W@ (TRUE, FALSE) 8 |

(A) e (B) fsiwe (©) (D) W&
Which of the following is a layer-1 ne device ?

(A) Firewall (B) Hub Switch (D) Router
frftrftae & @ #1791 b g 7

(A) v (B) ®W ﬁﬁw (D) R

Which is a secure connection two pri rks '
s Wn private networks over a public
(A) Social Network (B) PAN

(C) LAN (D) VPN

T Wi Jzash T Q) Tya ewdh % aw o el s W Wl 2
(A) W 3zed (B) PAN (C) LAN (D) VPN

Which of the following layers is present between the presentation and
transport layers of ISO-OSI network reference model ?

(A) application (B) session (C) datalink (D) network

(A) T (B) &wm C) afiw (D) Yewk




147. Which of the following kinds of information are part of a DHCP server

148.

149.

150.

151.

182.

|

S
\ i Y

)

configuration ?
(A) IP Address (B) DNS Address
(C) Web Server Address (D) Default Gateway

P § @ 2 o YR B ge v DHCP et freama 1 feen & 7
(A) iR (B) Awn. ¥w () Wwh A (D) Rww A

How many different numbers can be represented with 16 bits ?
16 firz % Zr R 3rem-3vem e weftfa ) s w8 7
(A) 65536 (B) 8192 (C) 32768 (D) 16384

Which of the following is @ web server application ?
fFrefrfea § @ 9 1 0 39 FR TR R 7

(A) firefox (B) nginx (C) ffmpeg (D) thunderbird

A web server listens on well-known TCP port.

& 39 wR AhA TCP R weamdme |

(A) 88 (B) 8088 (C) 80 (D) 99

Which is a form of social engineering threat in which an attacker poses as a
genuine institution and contact the targets by email, telephone or text
message and lure them to provide sensitive data ?

(A) Worm attack y (B) Phishing

(C) Spoofing v (D) Denial of Service.
ﬁniimmmmwmmwtm ARSI T TR
™ & w9 i e WS Toie B saeiiel 3 3 & forg §-de, W ik
IR Hew g e A R 7

(A) i ¥ /" (B) FeRim

(C) wfm (D) femam ¥ wffa

Whigh refers to the ess of protecting information i
dete?ting and respondingprg attacks '; - o pee.
(A) Backup (B) Troubleshooting
(C), Cybersecurity (D) Hacking

N & Y s Rreds gro smeam # TR, gitva w0 sRme R smn
= d Rl weftm f 7

(A) 4w (B) Zewrfén
(C) Wy Rt (D) e
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153.

Which of the following CPU scheduling algorithm makes use of fixed time
quantas ?

(A) First-Come-First-Server (B) Priority Scheduling

(C) Round Robin (D) Shortest-Job-First
frafiriga & @ ¥ W CPU Ir3qe wwien g ww sz 1 STam & & 7
(A) FE-FH-FH T (B) wmawé frggfem

(C) WU (D) w¥w-ate-Fe

184. Which is a code segment in which the process may be accessing and

\

186.

187

updating data that is shared with atleast one other process ?

(A) semaphore (B) deadlock

(C) mutex (D) critical section

A= & A W W 0 52 Gvs & Rl wvea: wew 30 ® Al st ez
e e & < o 9 A #R T =1 THE & ann e R 7

(A) RWTER (B) Bsatw (C) w5 (D) wifa® &e
Ubuntu, Gentoo and CentOS are the popular distributions of

operating system.

Ubuntu, Gentoo 3R CentOS e R & vt feedisga &
(A) Linux (B) Mac (C) L\ndmid (D) Windows
Which of the following software process model is simple and most suitable
when the requirements for a problem ar understood and when work
flows from communication through depl tin a linear fashion ?

(A) Incremental (B) Waterfall

(C) Extreme programming (D) Rapid Prototyping

Areforfa @ w7 @ wiwae e wiee qER Ivarft st e R, w9 'wen
) sravawm o § ok Tw o i Sve # e g gEanst F 7o
wrd w1 warg & wan 7

(A) Ghizm (B) Wewm  (C) wEWsmRM(D) e e
Which software requirements generally relate to required system properties
such as reliability and response time ?

'(A) Functional (B) Critical

(C) Casual (D) Non-functional
A # @ 9 o ARAT FTETEEAT] RIUROE EwE fen wied @ W

frvaerfram afv wfifiva awg weftm B R 7
(A) YoRIters  (B) wifas (C) sfwafm (D) FWHRIw®
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158. The final outcome of phase in software development process is the
Software Requirements Specification (SRS) document.
(A) requirements analysis and specification
(B) software testing
(C) software design
(D) feasibility study .
weA feamie. AR (SRS) yoe wwdAw Riew when § sifm
qfeom R
(A) Fravaemand Redwo au Rl
(B) Wiweam adin
(C) wiwaw S
(D) =qEERIN AqUA

Which is a piece of code that is substituted to mock the behaviour of an
external dependency during unit testing ?

TS wie &% o W % SEER H) 7le FA F frg 7@ TR T 52

159,

& w7
(A) proc (B) module (C) stub (D) section
160. Boundary value analysis is a testing technique used to find eryors at -

boundaries of input domain. ¥/

(A) greybox  (B) magicbox (C) blackbox (D) white box
e B ) maﬁ?ﬁmm&thmm.mmﬁw

qlteor vt @ f

(A) 2sm B) MNwww (C) Awaw (D) Wl
161.  Which of the following is a yideo-conferencing solution provided by Google ?

" (A) Teams (B) Meet (C) Zoom (D) Webex

T &V We R v - whetiin s A vt g

(A) @ (B) (© W@ (D) ¥wW
162. Big bang, top-down and bottom-up are the approaches used in

testing of software. |

(A) integration (B) system (C) unit (D) white box

wiRdm R e & -, 29-29A AR wien- 3w siftem s @
g |

(A) sfarem (B) frem (©) I (D) Wiz ulv

———

Code No. : C-631/2021/Series-C 30

e i S S A — —— — —



163.

164.

165.

166.

167.

168-

169.

170.

Appl}’.iﬂs an encryption process on plain { '

(A) ciphertext (B) hypertext (C) e’,‘,‘a‘:;ﬂ,‘:,ﬁes (D) cybertext

o 3 T T M SR o1 e 3=y e £ —

(A) T:d:z ) (B) ¥ WETR  (C) wrad (D) WIFERHRE
What does the shaded region represents in the Venn di shown below ?
43 Zai T 37 Y 3 o 8 e e 8

A B

(A) AnB (B) AcB (C) AUB (D) A>B

What is Windows command to perform various disk management tasks ?
faftr= e Taua $11 & F0 w1 SN anRu s R 7

(A) defrag (B) diskpart (C) netstat (D) ipconfig

In which of the following gates, the output is 1 if and only if atleast one
inputis 1 ?

Arffas 72 3 & frad, s 1 RN s FTE M AT G FLK | g7
(A) NOT (B) AND (C) OR (D) NAND
According to complementary nature of boolean-algebra, x - X is
Wmﬂwﬂ?ﬁ'%m-x-fﬁj

(A) O (B) 1 C) x (D) x+1
The digital logic family which has minimum power dissipation is
fafiree aiffrs tfreh frai <Eaw afF Jga gra @ -

(A) TTL (B) RTL (C) DTL, (D) CMOS

Which of the following circuits\can be used as parallel to serial data

converter 7 \
(A) Multiplexer (B) De-multiplexer

C) Decoder (D) Digital counter
%Wﬁ%mqhﬁﬁﬁmﬁiﬁngtmmﬁwmm%?
(A) T (B) f¥-wefietast

€) fwx - (D) Rfeas=

In which of the following a common pulso triggers all the flip-flops
simultaneously ?

%} il}.rnc{mnous counter % il;{ﬂ i1:t3 ister

C) Ripple counter et i Wl ot ) e T A R 7
(A) ﬁﬁmmﬁ (B) P m

(C) T s (D) Tar
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